§9)

= X

01-02 Atztu| 9} &8 Basic_1(m

2025.06.13

,.mwo
o

Nfo

Nfo

) 12
(] (D = (2) I

1.

2] 35°

O

14, 4v3

i

O

s

[

6.

[(A5] (1) 0.6691 (2) 0.7431 (3) 0.9004

9.

] 1.53

Bo

O

Z5

[

12.

, htan45°

(2) htan30°

, 45°

1 (1) 30°

el

[

15.

(3)50(3— +/3)

] 100

Bo

O

s

[

16.

] 124/3 cm?

Bo

O

Z5

[

18.

T— 16) cm?

80
3

1 1
20 [Xé%] 5, Eab




Z~5od o
[ =3 O
5 . . ABFH + 4BFH=90" ¢l #7478 ol
01-02 4+2v) 9} &8 Basic_1(314) . ST
FH= V6> +62=6/2,
F3-2 9497} 2025.06.13 BH= V6 +6*+6"=6/3
sing = ﬁ: 6 = \/§
5 12 BH 6v8 3
Q=5 - = _
D [AE] (D 3 (2) 3 COW:E 6\/52 3
BH 6v3 3
3] tanx:§: 6 = \/5
= = 5 FH 6v2 2
gefargle] Aol 95 AC= V12°+5°=13
BC 5 sinx Xcosxr—tanx = \/§>< \/g—
AC 13
o _ V2 V2
(2) Sin(:zgzE 3 2
AC 13
_ V2
6
3
2) [4] 3
5 [A¥] 35°
ol el
2] yz%xHO] z3, y=3 = JHe 722 A, B 20° <z <50° A 40° <22 <100°
o . 15° <22—25° <75
L2 L
A(—%, 0, B(O, 1) cos4b _TO]EE 20—25° =45
9 2¢="T70" =357
wreha A Z2HEE AOBO A OA:g, B=1
OB 3 6) [AH] 4, 43
tana = — = —
2
[a] 4]
Val=s
3) [ou]@ sin30°:—:% =4
[5f2] cos30 :%:g y=4+/3
REIES)
AMBC ¢k AEBD °IA £BE &%, [&]4]
/BAC=/BED=90"°]2=& AMBC “AEBD (AAES) AD— AEsinds
. /BCA= /BDE=z . 5
— =6xX——=23+/2
MBC A AB= V13 —5*=120]B& V2
. AB 12 DF= ADtan30°
SlniE::(:Zl—g .
=3v2x —= /6
V2 7 V6
1_ _
2 * = — frg
4) [A9] _% - MDF=—ADxDF=3+/3
(814 ] 8 [B4] O
7




3

2~
T

el
<1

39

(&4 ]
MBC 1A
sin30° = —>— + - AC=10
AC 2
5 V3 —
tan30° = —=—" . BC=53
BC 3
A 15
5N
30 ~L
R R R TR

U

Al gl 2ADC= £2DACOIEZ AACD
o] 54zt ol

rr

- AC=CD=10
. tanlhs = o = !
10+5v3  2++/3
. 2-\B
C2+v3)2-V3)
=2—/3

9) [8%] (1) 0.6691 (2) 0.7431 (3) 0.9004

(3]

1o>[xg%]§
[8]4]

V2 V2 1
Zz =14 Ve V2 1= =
= =1+ 5 X > 0 5

1D [H¥] V3

(a4 ]
45° <A <90° Y ", 0<cosA <sinAo|P =
cosA—sinA <0, sinA+cosA>0
. V(cosA—sin A2+ /(sin A+ cosA)>
=—(cosA—sinA)+ (sin A +cosA)
=2sinA

olw 2sinA=+30|E& sinAzg

w LA=60"
. tan A =tan60° = /3

12) [d4] 1.53

(314 ]
r=09sin38° =9x<0.62=5.58
y=09c0s38° =9x0.79="7.11

" y—z=711-5058=1.53

13) [4=] O

(&4 ]
FG= 6c0s45° :6xg=3\/§ (cm)
CG=6sin45 ° :6><§:3\/§ (cm)
A el Fule
3v2%3v2x5=90 (cm®)
14) (4% %
(&4 ]
z \y\
B‘J .53° 45°0N c
9lo] & T} o] TAA Ad|A] BCel gl $4¢]
Hep shH
m:ysin%" zgy
__AH V2 152
T3t 2 Y708 8

°. k;:%

15) [A"] (1) 30°, 45° (2) htan30°, htan4d5°

(3)50(3 — /3)

[a14 ]
(2) BH=htan30°, CH=htan45°
(3) BH+CH=1000] 2=

h(tan30° +tan45° ) =100

. 100
~ tan30° +tand5°
1
00 =50(3—/3)
V3
3

16) [A¥] 100

Lo
=2 =2



599

PR
T =

9

[a] 4]
AH =h g 34

/CAH =90° —37° =53°
CH

tanb3d " = 5

. CH = htan53° = 1.32h
/BAH=90" — (180° —127°) = 37"
BIL
h
. BH = htan37° = 0.75h
CH— BH = BC 0|22
1.32h —0.75h =57
0.57h = 57

5T
057

tan37° =

= 100

AD= he} stdl
BD=htan60° = v/3h, CD=htan45° =ho|E&
BC=BD— CD=(v/3—1)h =100

10 50(v/3+1)(m)

-

“h

18) [A%] 124/3 cm?

X 68 % sin(180° —120° ):24><§=12\/§

150 C

A oL %
1%0 O-8cm”

OCE 1027 OA=0Co|E=
£ACO=15"
£A0C=180" —(15" +15°)=150"
S (AR ] o))

=(FAQ& AOCe] Ho])—AAOC

7h 5

150

1
=7 X8 X — —x8x8xsin(180° —150°)

360

5 1 1
2

=1 X X———=XEIXEIX —
X8 12 8 X8 5

28—??77—16

1
(‘/]‘) Eab

2

(cm?)

2



